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Question Bank

B.Com Part- 1 (Honours) Paper- 2 Group D
Subject: Company Account
University Department of Commerce
And Management
B.R.A.B.U, Muzaffarpur
Multiple choice Question - ( SgfdwaiT ¥%)

The final Accounts Include:- (@ifom @ # e ®)

a) Profit & Loss Alc b) Balance Sheet
(@ 3R BT <@Ta) (@12 wran)

C) Both A & B d) None of these
(@ 3k @ <) (ST ®1E Te)

As the per company each a joint stock company has to prepare :- (F9 FTH @& ATT VI Td HUAT DI TIR FAT 3)

a) Trading Alc b) Manufacturing A/c
(fS @ ra) (FfoT <aTa)
C) P/L Appropriation Alc d) All of the above

(@ 3R g1 fafnT @)

(Sugad &)

According to section 210 of company act 1956 explain the provision for final A/c under :- (wu= FfAFTH 1956 BT TR A0

& ded AW WIa & U & ARAT B )

a) Schedule VI (Part 1) b) Schedule VI (Part I11)
(srgh VI @ 1) (srgeh VI (T 1 )

C) Schedule VI (Part VIII) d) Schedule VI (Part IX)
(sFgE VI (T VI ) (s VI (T 1X )

A joint stock company is required to prepare its final A/c :- (Fgaa wfd HUN BT AU 3ifH TIAT IR HIAT AL 3)

a) At the end of financial year b) At the begining of calender year
(<o o & ofq ) (@eler a¥ BT Fwed H)
C) BothA&B d) All of these
(@ 3R @ M) Eugea |+
Trading A/c of joint stock company provide information about :- @F @ wie FU & T W & IR § TEGR T&™
B 2 )
a) Gross profit & loss b) Net profit or loss
(Fher o 3R BIM) (gs @ 3R ')
C) profit & loss d) None of these
(em 3 ETf) (Sugad # W DI L)

In joint stock company section 2012 describes/provides :- (Fgad ¥ HUAT AFATT 2012 H FUF / USTT FHRal o)

a) Deals with preparation & presentation of final A/c  b)

(eifer @R @ da SR TR W W 2)

b) For disclosure of certain details in Balance Sheet. d)
@i ee # g At & gwdexe & forg)

Prescribe 'form' & ‘contains' of Balancesheet

& P/L Alc

(Fei e ok Wt /ua erpSe & BiH iR Al &1
freiRa &)

For the financial year of holding company &
subsidiary

@l Bu &R He™d Hu & Ay af & forg)



107.

108.

109.

110.

111.

112.

113.

114.

Profit or loss of is called profit or loss of prior to incorporation. (... | A AT BN DT FAWET B dIK B A
I7 B H-T STl B)

a) current business b) Textile business
(=ImTe], AMUR) (TS AUR)

C) coal business d) rubber business
(BT ATIR) (R =)

What is Goodwill ? (=arh @ 27?)

a) capital  (§zM) b) Assets  (sf)

C) debts (@) d) expense (&)

Uses of profit prior to incorporation are for ;- (F9™e 4d &1 o™ & TN fHar Simar 3-)

a) Capital loss CSIIEIR)) b) Capital reserve  (Gsfi =)

c) Time loss GERESIE)) d) turnover (FRIER)

How many form of amalgamation ?  (g@iaxeT & fasa w9 B &)
a) 12 @RB) b) 3 (=)
C) 14 (@eR) d) 5 (dt=)

Pre-incorporation profit is credited to which account ? (F¥res @ gd @ il @1 f6a @ # wfee frar smar 2?)

a) statement of profit & loss b) General Reserve
(emr—ar faaxon) (A wafaf)

C) Capital Reserve d) None of these
(i wferf) & A BE T2

For which purpose profit prior to incorporation may not be used ? (FA™ET & Yd & o™i & 5ANT {59 &R & forg w181
fopar S Adar 27)

a) To write of capital losses b) To write off goodwill

st =1 @1 eruforRed o & forg) @mR® @iy & Jod B FAT & @ for)
C) To create capital reserve d) To distribute dividend

(@S H=g @1 e B @ for) (@mier ReRer & for)

Asha ltd. issues 5,000 equity shares of which only 60% was underwritten by Kiran Itd. applications for 45,000 shares
were received is all out of which application for 26,000 were marked. What will be the liability of Kiran Itd ?

(amem ffo 50,000 AT 3fer TG @Refl ® RdaT 60 ufererd wnT = foto gwr i ifia fasar Tam €1 45,000 &feif & forw smmaes ux
ureT g¢ foraH ¥ 26,000 aaeA fafed o f&=A fofo &1 T <R 8mm?)

a) Zero  (¥) b) 1,000 shares (1,000 3f21)
C) 2,000 (2,000 3f2) d) 4,000 shares (4,000 3790

Shanu Itd. issues 30,000, 6% debentures underwritten by Rachana Itd 30%, Shashi Itd. 30% and amit Itd. 20% Market
applications for 24,000 debentures were received. What will be the liability of underwritters.

(@, foto 30,000, 6 HftreTa For—um fffia w=clt § foraer 30 ufrerd T 7= feto =, 30 ufdrerd T el foo 7 sk 20 girerd W
31 oo =1 e fpam 81 24,000 Fo—u=l & forg fafted oiae o= wra gv | AifrTva! &1 <1fiea faham 87)

a) 14,000, 1,600 , 1,600 b) 1,600 , 1,600 , 1,400
(14,000 , 1,600 , 1,600) (1600 , 1,600 , 1,400)
C) 18,000 , 1,800 , 1,200 d) 2,000 , 2,000 , 800

(18000 , 1,800 , 1,200 (2,000 , 2000 , 800)
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In the case of a private company profit prior to receipt of certificate of incorporation is known as :-

(T ol o @) <o H I TA-UF &I uif fOfY 96 & o Bl PEd 2 )

a) profit prior to incorporation b) profit after incorporation
(T @& Yd BT o) (TS & 91 BT oAT)

C) profit at incorporation d) All of these
(TS & & BT o) Eugaa )

Profit prior incorporation are profit. (FIFeT & & & WM .. BT 87)

a) Revenue  (srmard) b) Capital  (Gsirra)

C) General (&™) d) Dividend (amien)

Insurance expenses are located on the basis of ? (S¥rer & fras smR R i fHar ST 2)
a) Sales () b) purchase (@¥q)
c) Time (@) d) Capital  (§=M)

For calculating pre incorporation profits administration expenses are apportioned in ? (F9™eE & qd & o™l &I T=1T

B TG AT Fdl Bl e R W favifoa fsar simar € ?)

119.

120.

121.

122.

123.

124.

a) Sales Ratio (fa=er argum) b) Purchase Ratio  (@¥ig s/ um)
C) Capital Ratio (@S arguTa) d) Time Ratio (T 3rguT)
Profit after the incorporation is transfer to :- (FAHEE & gzarg & ™l BT ... H SR fHar od € )
a) Capital Reserve b) Statement of profit & loss

(Fon wifafc) (@ sk = e
c) Balance Sheet d) General Reserve

(afeama) GIEIEpEEIEIR))

Preliminary expenses is located on a basis of :- @ERfEag &1 o srgua # fafo fear s &)

a) Sales (=) b) Purchase (@)

c) Manufacture (fFto) d) None of these (T & ®1E 78))
Profit prior to incorporation may be distributed as :- (@AM & 4d & aivia @it &1 fod wu # faaRa fear o9 &)
a) As profit (@™ & U #) b) As interest (&t & wU )

C) As dividend (amier & w9 #) d) As capital @i & wu H)

Office expenditure is allocated on the basis of :- (@rife @@ &1 fra srura # o fasar srar 2-)

a) Sales  (fs=) b) Purchase (@¥=)

C) Bad debts (&) d) Time (|93)

Gross profit & loss is allocated on the basis of ;- (A& @ 3R g1 &1 MR 8-)

a) Turn-over Ratio (s & MR W) b) Direct expenses (Gcer =)

b) Basis of Time (091 & 3MIR W) d) All of these S a+)
Fixed variable charges are :- Ry = St Qs & #1371 & AT T8 98ad © )

a) Advertisement  (fasma) b) Salary (vt =)

c) Rent  (fawmam) d) Packaging (@f&)
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Underwriting commission salary of Managing director are the example of ;- (@™o Sfi=, FARET Fards &1 a4
fras SeTERT § )

a) Expenses belonging wholly to cost incorporation period (¥ e & a8 @1 =5)
b) Expenses belonging to pre incorporation period. (F e & gd &1 =19)

c) Fixed Variable charges (it &1 =31)

d) Variable Charges (aRad=efiar @)

Necessity of Ascertaining profit or loss prior to and after incorporation :- (FA™eE & Yd 9 U= @ @ a1 81 Farem
P AT B 2 )

a) provides accurate profit & loss b) provides uses of accurate profit
(g€ o 1 B & 719 & for) (F€ ™ B W & T B for)
C) Uses of accurate losses d) All of these
(Ts T & W & forg) & | )

According to companies act 2013 which section, the ability to contract any company is obtain only after getting the

certificate of amalgamation and certificate of commencement of business :- (@wTT 1T 2013 @1 fd ORT & AR
e ot SRl BT STEY FRA @ IIAT FHAFE BT THIYT UF UG AER dTe] R B T UF e & 9 & w81 ® )

a) Section 10 &RT 10) b) Section 11 (@R 11)
C) Section 12 (&1 12) d) Section 13 (@R 13)

Method of finding out profit or loss prior to or subsequent to incorporation are :-  (FATe a1 FTF R & & G4 AT 918
& A AT B AT PR D1 AR 8)

a) Time method (T & TI9ER) b) Turn over method (Rt & 3TIER)
c) Time & turn over method (s @en w71 & argeR)  d) All of the above (ET# & &13 72)

In which account the amount of loss is opened if their is no goodwill A/c in the book of company :-
(@ @ eIt @ @rar 7 81 A g1 &) YhH 9 B A @rar @i {3 S g )

a) Balance Sheet b) Income & Expenditure Alc
(@& T (@ &R =™ @)

C) Goodwill A/c d) Reserve & Surplus Alc
(fy e (IRfEra 3R 3rfdrey @)

In which account is the loss before amalgamation is debited :- (@AMHe™ & 4d & =i+ fvd @mar # SfiT f&ar Smr &)
a) Goodwill A/c (far @) b) Suspense A/c (=2 @ran)

C) Profit & loss A/c (@1 =1 @) d) Receipt & payment A/c (@i iR wra= @ran)
What is declare as profit after amalgamation ;- (F9MHe & YZa dTel oM & @M AN fdar Smar 8-)

a) Divisible profit  (favro arg o) b) Dividend (creieT)

c) Interest (=ar) d) Expenditure ()

Which of the following information is important for preparing the balance sheet after profit prior or post prior
incorporation ;- (FFE & gd U9 U¥ER P A H qTART B B a8 fager a9 & forg e § & @9 @1 gae Aeew gt
g-)

a) Capital Reserve (s w=) b) Cash Balance  Ri&s qma)

c) Both (a) and (b) (“a1” &R ‘¥ <) d) None of these (57 & @15 =12)

Fixed distribution expenses are divided according to - (mft fadwer @1 &1 fvds rgaR dfer ST 3-)
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a) Time (973) b) Sales  (fs=)

c) purchase (@¥i=) d) expenses (@)

Variable distribution expenses are divided according to - (@Rac=irer faeRer =@ @1 fhea rgaR dfem ST &)
a) Time (#3) b) Sales  (fam))

c) Purchase (=¥g) d) expense (@9)

What happens to the bank account when the buying company issues shares to the share holders :-
(ST9 aT B fashar B &Y AT Bxal & d T O 89 R d6 @i § @7 fhar s 8-)

a) Debit (=fe) b) credit (®fee)
C) none of these (57 & 315 7)) d) (a) or (b) Both ®wgaw ‘a1 3R ‘T <)

What happens to the capital account when the buying company issues shares to the sellers :-
(S oAt HrET fasmar B &fer R B € @ T o @9 W) Yol WTd R gl §)

a) Debit (sfe) b) credit  (f3e)
c) none of these EF | 33 ) d) Both (a) and (b) ®waw ‘a1 3R T <)

What does not earn until a company is incorporated and amalgamated :- (T& ¥ @) STd ITUAT &1 il § 3R gA®!
WHIE T BT ¥ 99 d bl Jioid T8l BT & —)

a) Loss  (&1f9) b) Interest (saroT)
c) Dividend (=) d) Profit  (am™)

Under which head is it shown in the liability side of the balance sheet of the company :- (&= & anf¥fe fires & TR
@ o7 # 5 ofife & ora feamar siar 27)

a) Income & Expenditure A/c b) Capital Alc
(g iR =g @) (ot wra)

C) Reserve & Surplus d) Goodwill Alc
(erfer ik i) (eefey )

Under which head of the assets side it escaped in the balance sheet ? (anfdfe fage # 3o wwfcd w3 & fre oi¥e & eravid
T ST 27)

a) Divisible profit b) Miscellaneous Expenditure
(o= ar o) (fafaer =)

C) Reserve & Surplus d) Deferred Revenue
(eRfera 3fR arferei) CEISRD)!

What is the profit prior to after incorporation treated in suspense account ? (F9TeE & Yd & oM &1 G<el @@m H a1
foar < € )

a) Credit b) Debit
(fee) SEG)

C) deducted from Suspense A/c d) Added to suspense Alc
(A<E W gerr ST §) (T8 @ A ST O 2)

What is done in the statement of profit & loss of unearned profit of buying company :- (a1 &= & SMRRTT @9 &I BT
faaxvr  wn fpar ST 3-)

a) Deducted (ercTam) b) Added (SireT ST ®)
C) Transfer (Ewaif~aRa fpar <ar B) d) None of these (57 & &5 =2l)

Expenses are treated as before incorporation expenses :-  (FH™e ¥ Y4 aTetl 3f@fdy & A I 3-)



a) Vendors Salary  (fasvar &1 aa=) b) discount (@eer)

C) Rent (fo=Tam) d) Interest on debentures  (FoT U5 R =)
143. Any company assumes statuary existence after ? @% T . B G FD AT TS IR T)
a) Incorporation b) Certificate of Commencement
GRIERE) (THTOT—U)
C) Registration d) All of these
(wrsfrepom) T & )
144, In what ration is the total profit for the year divided if it is 10 months after profit prior to in corporation ?

(T & 918 BT FHI 10 WS B A1 9§ B F[oI AW BT e rgura # dfe far S 2)

a) 3:10 (3:10) b) 6:12 6:12)
C) 8:13 (8:13) c) 2:10 (2:10)
145. If the sales after profit prior to incorporation are 80,000 and the sales before profit prior to incorporation are 40,000 that

what is the ratio of this ? (¥ mem @ arg &5 @ 80,000 T AT 3R & @l 40,000 & T 39 59 arura # dfer 9T 1)
a) 40,000 : 80,000 (40000 : 80000) b) 4:2 (42

c) 2:1 (2:1) d) all of these (5T & a)

146.  The total profit for the year should be divided according to :- (@ & a1 ™ &1 fFwa srgER frfoa fear Sam 21)
a) Time method (THa 3TUR) b) Turn over method (R & rgER)
c) Time & turnover method (&¥a O & ITAR) d) Company method (&= & STER)
147.  Profit Prior to incorporation are :- (F™ed & g @ 3T @M BT BT AT AW BT ©)
a) Revenue profit  (@merTa @) b) Capital profit (ESTRTaT o)
C) Gross profit GEERSIS)) d) Dividend (GIIRY)
148. Loss is divided as :- (=17 @1 fawifora fasar < 2)
a) Time ratio (T SruTa ) b) sales ratio (s argara #)

C) general ratio (9T ST H) d) None of these (% & &g )

149. Gross profit is divided as :-  (FF&er o &1 farfora fear s §)

a) Time ratio (9 U H) b) Sales ratio (faspr arguTa )

c) General ratio GRIBECREIE)! d) None of these (% & &g )
150. Advertisement is divided as :- (s &1 ffra fosan ST 2)

a) Time ratio (T3 T H) b) Sales ratio (faspy arguTa )

c) General ratio (T 3TguTa H) d) none of these EH | PIg 7E)

151. As per As- 14 Purchase consideration will include the payments that are payable to whom:- (As-14 & /aR &3
g # 9 A WA BRF 91 FrEfeiad § 9 R 9 @ 97 v)

a) Share holders b) Share holders & debenture holder
(ererenfee) R

C) Shareholders & creditors d) Debentureholders & creditors
(arerenRat iR TFERI) (FET—TFTRAT 3R A-ERI)

152. Which method will be used to record amalgamation in the nature of merger in the books of transfer company ?
(V19 TSIl e @1 TqiT BT & AT ST oRdida sl dal 7 e fafd | fpar smmm?)
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a) Pooling of Interest Method b)
(fat @1 g

C) consolidated balance sheet Method d)
(gt feraar fafen)

Purchase Method
(s fafe)

None of these

(Swa ¥ BIg TE)

To which account the different between the purchase consideration and share caital of transferor company will be
transferred under pooling of interests method? (=t &1 T Eiexw Ay # w3 ufiwa R 1S HFET B ofF §of & oK

P foa @t # exaraRd fHar SRem?)

a) Amalgamation on adjustment A/c b)
(TPTHROT HATST T
c) G/R or P/L statement d)

(A= |fafer srerar am—ar faawon)

Goodwill or capital Reserve
(et arerar ol wff)

None of above

(Fwfaq 7 § T TE)

What will be recorded in the books of transferee company under purchase method ? (o fafer # sl FHF 3Ta

gwIal # fhear o Han?)

a) All assets and liabilities of transferor company b)
(ERTRS B B T AHfadl 9 STl @)

c) Assets and liabilities acquired by transferee d)
(EITRS HH o) ARG wfaal g <Rl &)

All assets, liabilities and reserves of transferor
company

(EITORG HH B T qRfoan, STl 3R
Tt @)

Assets and liabilities acquired transferee
company and statutory reserves

(ETRS B B AfRTET Frufert g <1
AT RIS =t B)

(TPHTHROT AT TR BT ST P BT GRIDT H PP o7 B $ oY @refl o g ?)

a) Non-statutory reserve of transferor Co. b)
(EETR® B & IR—qenfaes d=)

c) All reserves of transferor Co. d)
(BTORD BT B AT HE)

Statutory reserve of transferor Co.
(EEITRD HH B Al He)

Assets & liabilities acquired by transferee Co.
& statutory reserves

(EEITRSE HH &1 STeEa wwfodl g gt
q«uT e At @)

Accounting for amalgamation of companies is done a per. (F¥=1 & T@HIHROT | TR oRAIHA a1 T )

a) As-4  (As-4F IIER) b)
C) As-14 ( As-14 & 3I9ER) d)
From when accounting for amalgamation is regulated by As- 14.

a) 1930 b)

c) 1995 d)

As-10 ( As-10 % 3J9R)

As-20 ( As-20 % IJ9R)

(TR B TR AS- 4 e A Ferierd sl &)

1929

1999

Which company is known under amalgamation, vendor company is called transferor company while purchasing

company.
a) Transferee company (8%iT<iRe& &) b)
c) Private company (Frsil &) d)

(TPIHVT & Il FAhal HFI BT SRS HFIAT T hell BT Bl FIT HET ol 8 7)

Public company (@rdwife &)

One person company (T& =afda &edi)

On what value the shares are valued, In case of amalgamation in nature of merger . (e @t wEfa # varwRor # of2l 31

fre o W ifea fHar S &7)
a) Called-up value (@fa—sm 7e) b)

c) Subscribe value (Fe=T 9=3) d)

Paid up value (g&ar He)

Market value (sT9TR q3)

On which price fraction of share are valued ? (e @& @vsi @1 Jeiad fFa qoa W fHar S 27?)
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a) paid up value (G@ar 1) b) market price (I9TR H&)
c) called-up value (®fe—ama 7ea) d) subscribe value (Feadr ge)

In case of amalgamation in nature of purchase the difference between purchase consideration and share capital of
transferor company is transferred to :- (3 @1 TEHRT & THHRT & HI TRHA AR THRS BT DI A TS BT ART & R
Pl EXATORIT BY AT ST 2 )

a) Capital reserve (I <) b) goodwill (=)
c) Botha &b (@r 3R @ <) c) None of these (g7 & ®Ig &)

Polling of interests method is used in case of amalgamation in the nature of :- (fdi @1 wEIeRr Y T wART fFwa! Tk
@ TR o Rerfa # far et 2)

a) merge  (fder) b) sales  (fam)
c) purchase (s3) d) goodwill  (z=afey)

Which method is used in case of amalgamation in the nature of purchase. (Rf @1 TRIFT H3 & TR B THIEROT @1 Reafay
# frar e g @)

a) pooling of interest (f2al &1 g b) purchase (s53)

c) merger (fder) d) sales  ([9e)

Under pooling of interest method assets and liabilities are recorded at their

(f2at @1 Ry A # 'wfy &R sffacl & S99 el W forar S 7))

a) Existing Book value (ac#m gea 7o) b) Fair Value @ 1e9)

c) Purchase (s3) d) All of these (& & &)

Under which method assets and liabilities are recorded at their fair values. (e fafer % vy sk <1REl @1 S gl w®
forar imar ® 1)

a) Merger (faem) b) Goodwill  (arf)
c) Pooling of Interests  (fRat &1 wggiam<o) d) Purchase  (s3)

Under which method, reserves & surplus of transferor company are shown in the financial statements of transferee
company ? (frd faf & xdToRe TFE @ oM iR HEdl B R SR @ R faaRei | gwiar e 2 )

a) Merger (faem) b) Goodwill  (zarf)

C) Pooling of interest (fRa &1 wEImR) d) Purchase (53)

Under purchase method, the excess of purchase consideration over the share capital of transferor company is transferred
to . (u R # B uied @ TS HEET @ SfF USH B MR @I # geIraRdg &) fear S )

a) Capital reserve (4 <=9) b) Goodwill  (z=fa)

c) Merger (faer) d) Purchase (&3)

Which company do not affect inter-company transaction :- (5 &w= T IRR—GH JATERT HT BIs F9TT Tai Tl ?)
a) Purchase (&) b) Transferer (FRT<R®)

C) Foreign  (face=f) d) Transferor (g%T<R®)

AJc to tradition approach, how many types companies are there ?  (RIRFTT s § F T THR & 81 ©)
a) One (T®) b) Two @n

c) Three (9) d) Four @)



170. When a company buys another company under an agreement called ;- (9 T& SFa= 5l F9sia @ sreid fell St
faem™ & &1 % fHar Srar @ 9 S )

a) Absorption (ar=teta) b) Reconstruction  (gafwion)
c) Botha &b Sudaa TH) d) None of these (5 & &5 +2)

171. A state under which either two or more companies are joined so as to form a third entity are :-
(@& Raft e et &1 wrafal MU # fieiax Uah fandd) il ol @) RATUAT ay S8 )

a) Amalgamation  (T®I®RoT) b) Absorption GIEGEE)]
c) Reconstruction  (gfwion) d) Alliances (FaTST)
172.  Advantages of Amalgamation are :- (T@IEHRT & o 3—)
a) easy control (Fra=or # gfaen) b) Services of specialists (st @1 )
c) easy distribution (fac=or # gfaem) d) all of these Sugaa w)
173. Disadvantages of Amalgamation are :- (@@&IaRv & B & )
a) easy distribution (fa=or # gfaem) b) economy (Fraeafiran)

c) easy control (Fr==or # gfaen) d) over capitalisation (stfa—{siievo)

174, How many types of amalgamation are there according to As-14 ? (AS-14 &% 3TER TSGR & fhd oK ©)
a) Four (@R b) Six ®)
c) Two @) d) Eight (sa)

175.  Technique of amalgamation are ;- (@®IGRT & THAD B)
a) Horizontal form (@ft® o) b) Purchase consideration (sa ufawa)

c) Vertical form (Gftea w@=ay) d) Conglomarative form (v <)

176. For transferring assets taken over by transfee company :- ET=RI SHHT gRT & T8 ARl & SRR & forg )

a) Realisation A/c ------- Dr b) Sundry Assets A/C ---------- Dr
To sundry Assets A/c To realisation Alc
c) BothA&B (@1 3R 9 <) d) None of these (57 & @15 =1E)

177. Necessary ledger A/c in the books of Transferor Co. (=R & Jwad! # AeId @ )
a) 3 b) 2
C) 5 d) 6

178.  The following reserves and funds are not mentioned in the balance sheet of transferee company are :-
(Frrifora o1 Td BIeT BT Ioold BT U= & R8s # S fpar omar 21)

a) General Reserve (™™= Ge99) b) Insurance fund (§Hr o)

C) contingency fund (wfIfTE @) d) All of these (& & )

179. The following are shown on the liability side in the balance sheet of transferee company :-  (Fifea wiul &1 g
U & foss § SfIE et # fe@man omar 2)

a) General reserve (M= G9d) b) Provident fund (afass f=fe)
c) Contingency fund (wiaifrs @iv) d) All of these  (§1 @)

180.  What is arises with the respect of amalgamation :- (T@I&RT & = § RIT IO 21T ©)



a) General Reserve (™™= Ge99) b) Capital Reserve (d=ra )

c) Other Reserve (3= |=) d) Provident Fund (wfoss ff)

181. Necessary Accounts in Transferee Company are ;- (Gl &H1 # 3MaeddH W BN ©)
a) three ™) b) four (@R)
c) two (=) d) five (df=r)
182. How many policies are there for determination of purchase consideration ? (Fa giipar & fRaRT & fra RRET 2)
a) Two &) b) Three (=)
c) Four @R) d) Six ()

183.  Methods of Accounting for Amalgamation ;- (@@= &) orEis fafdr )

a) Two @) b) Three (=)
c) Four @R) d) Six ()
184.  Under which it is mandatory to have at least two working companies :- (& I<TTId HH—H—®HH & HRRG HHFAT BT BT
et 8)
a) b)
c) d) Amalgamation (T@&iRo)

185. All assets and liabilities are included in ;- (FRa F@uRET g <A mfHa 2)
a) Business (eresm) b) Share  (37@)
c) Debenture (zora=) d) All of these (577 @+t #)

186.  Where is the accumulated profit transferred in the case of winding up of the company ? (@&t & &A= &1 <2 # Gfad
AT BT HEl ARG (BT S & ?)

a) Shareholders A/c b) Debentures holders Alc
(ererenRat & wrd #) (oAl & @ H)

C) General Reserve d) None of these
(T e ) (& 3 @Ig e

187. Accumulated profit includes ;- (Sfad @ # o ?)
a) Capital reserve  (gsit 5=) b) Sinking fund (Rif&T wus)
c) loan (=) d) Botha &b (@1 iR 9 )

188. Caluculation of Purchase consideration are :- (53 ufdwer &) o &_ o faferdt 8)

a) lump sum payment method b) Net payment method
(T Fza grar faf) (g= e fafe)
c) Botha &b (31 3R @ 5= d) None of these (7 & &1 =&l)

189. Accounting method for amalgamation :-  (Ta@vor @1 oraie fafeat 2)
a) 1 (T®) b) 2 (=)
c) 3 () d) 4 (@)

190. Under this method, the shares can be settled by providing money for the differed share to the share holders.
(9 fafsr & srasia sierenRal o witsa ot & forw Mds, U™ & 3P &1 FueRT fHar ST daar 2)

a) Pooling of Interest method b) By issuing fraction share certificate
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(f2at @1 g fafd) (afvsd ofer yHTo—ud et @)

c) Bycash (s gw) d) By Purchase Method (a1 fafer gwi)

The following items and profits will not be include in the liability case :- (F=foaRea sfafoal, ol @ o™i &1 sl ¥
e T8 faar Srem )

a) Loan (W) b) Share (379

c) General Reserve (9™ =) d) Purchase (s3)

Form of Amalgamation are :- (T@IaRoT & @R B)

a) Horizontal form @fte wawu) b) Vertical form (aiffed )

c) Conglomerative form (v %) d) All of these (Sugaa &)

When the transferee company will continue the business of the transferee company :- ER<RI HF Hd FRIT<RSD
FHET & FGEI Bl AT )

a) After amalgamation b) Before amalgamation
(DB B qI1S) (THIHRT B T-H)

C) With amalgamation d) None of these
(qaBTPvT & ) (& & P TE)

Objectives of amalgamation are :- (T@aHRT & I 2)

a) Cover-capitalisation (arf—gsireson) b) Monopoly situation (gariErerT Rerfd)
c) Industrial dispute (&frenfirs were) d) Economy (faeafian)

Important terms defined in As- 14 is. (@@= AMd— 14 # gRINT Ayl wres 2 1)

a) Amalgamation (TR b) Reserve (d=r)

c) Fair value (ST ) d) All of these (Ewaa i)

Important terms defined in As- 14 are : (cRai®= A9 14 § gRIAT Fewgel oreg )

a) 4 b) 6

0) 7 d) 9

Under which As amalgamation falls :- &\ o@i® 99® & = Id YBHIHROT 37T )
a) As- 14 b) As- 16

C) As- 21 d) As- 24

An existing company purchase the business of another existing company . @& faem™ F 0 fdem™ ww &
AT BT BT BT B)

a) Amalgamation  (T®I®RoT) b) Reconstruction  (gafAfo)
c) Absorption GIEGEE)) d) All of these (Sugaa w+i)
Today's era is:- (@M &1 g 2)

a) Competition (@fragT) b) Modern (smgfin)

c) Traditional (IRHIRTTA) d) All of these (Ewaa i)

How many views are there of the meaning of the word amalgamation :- (@@aRvT ¥red &7 312 & fovae eI 2)



) 4 (@) b) 2 (a7)

c) 8 (a113) d) 12 (@)

201. By which action the business of the company is closed ;- (f&d SRl & R HHET BT AR T HR AT ST )
a) liquidation (\Td=) b) dissolution  (faeres)
c) slovency (&R &) d) insolvency  (faaferam)

202. After liquidation , if there is some amount left even after payment of various types of creditors, then it is divided into:-
(@I & 9% I I 96R & oFeR! @ YaE & 916 f §8 69 A9 gel § S9 fhE 9reT oI § 1)

a) Goodwill  (=fa) b) Share holders ~ (3ferenRa)
c) Partners  (WT=Igm) d) Agreement  (FHsiT)

203. What evidence dose liquidation prove :- (@AM fa 2ol &1 FIforT @var 2 1)

a) creditors (e¥eR) b) share holders  (3ierems)
c) assets  (f) d) liabilities (s1fa<a)
204. In which section the reason for liquidation up of the company is given. (&t & ¥AUA & RO fd oRT # 320 27 3—)
a) 423 or 304 b) 271 or 206
c) 271 or 304 d) 402 or 721

205.  Which of the following is type of liquidation :- (&7 & ¥9IUH & UHR & 8—)
a) voluntary  (fze®) b) Tribunal (fg=gar)
c) a orbboth (a1 ek 9 <) d) None of these (57 & @1 =gl
206.  What are the main types of voluntary of liquidation :- (%=t 31 fovar 71 FwOs g&a: faas UaR & 81 § —)
a) five (dr=) b) three M)
c) one (vap) d) two @

207. The reason for the termination in dissolution and its process is described in which section ?
(Rraes & woIftq & HIROT T ST UhaT &7 o foo o_T # o ar 8 )

a) 271 and 304 (271 3R 304) b) 302 and 318 (302 3R 318)
c) 271 and 318 (271 3R 318) d) 304 and 302 (304 =R 302)
208.  Indissolution how many types in their :- (e # fhaw yeR g 3-)
a) 2 @) b) 3 (cfr)
c) 4 @) d) None of these (57 & @18 =12)

209. If the company is unable to repay its earlier debt, the by which liquidation is done ? (&= aro= gof o1 g & sramef
Al A fHd® §RT BT S © 1)

a) Tribunal liquidation (feegae T=mom) b) optional liquidation (Yfee® FwHI)
C) voluntary liquidation (xzesT \HY) d) dissolution (faeres)
210. When sometimes company is ending by tribunal liquidation method is also known as :-
(G9 T HHE BT TG ST §RT 81 8, Al . W HBT ST 2 )
a) Dissolution (ferere=) b) compulsory liquidation (srfart \#g=)

c) voluntary liquidation (Fa=gT FHTU+) d) optional liquidation Rfs® w\mEm)
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A company indents to liquidate voluntarily, i9t can initiate the & liquidation proceeding under section of
insolvency and bankruptey code, 2016 ;- (T& &F= i <G § FHUF HIAT @E € 98 Insolvency and bankruptey

code, 2016 & €T .......... B A< FHGT B BRIATE TR B Aha 2 )

a) 80 b) 65

c) 60 d) 59

The liability of a share holder is restrictedto _ of the share hold by him. (@& siermd &1 <1fya SHa grT anRa afen
P a® & Afa g 2 1)

a) total value (gat <@m) b) unpaid value (e @A)

c) half value (s <@m) d) share holder value (3feram) v&)

In case of liquidation under the supervision of the court, a liquidator is oppointed by (RITTer @) <@ X B

vt aHTa @) Refy & wwmas o frgfea . ERT @1 ST 2 1)

a) members () b) court (=gTaTery)
c) company () d) dividend (arrer)
If a company is not solvent, the debenture holders shall be paid interest upto the date of
(afe o TR 981 | A7 RO gRGE B 31 fafdr q& &1 =T faar SRem )

a) payment  (y7Tam) b) dissolution (fae=)
c) liquidation (F=To=) d) assets (&)

Some creditors out of unsecured creditors enjoy under law, the right to receive payment in priority of other. such

creditors are called creditors. (@B IRRRAMT TFERI B T & T I IRGRMNT SIRI &Y o= H Ugel YA U
B BT PR BT &1 58 o TR HET STl 8—)

a) contributories  (gTaTaTa) b) liquidators (Fr<R®)

C) secured  (Rfar) d) prefential  (gaifrer)

A tax payable by a company is creditors in case of its liquidation. (U@ ww = §RT TRBR BT T B HFIT H
I @ Regfy # ... AIRR 7))

a) prefential (qaifErar) b) secured (gRfEra)

c) contributories  (g=TTaTa) d) liquidators (FrRaRe)

Under Insolvency & Bankruptey code 2016. The resolution process of insolvency of a company is to be completed
within which period ? (fearem ®rs, 2016 & 3ria HHRAT &1 fearen Tl wRaTa ufshar feas w9 § 0 81 S =12Y?)

a) 250 days + 100 days (250 fa=1 + 100 &) b) 180 days + 30 days (180 f&= + 30 fa=)
c) 180 days + 90 days (180 &= + 90 &) d) 180 days + 180 days (180 f&1 + 180 fa=)

A creditor of Rs. 10, 000 has a security having book value of Rs. 15, 000 but only Rs. 12,000 is realised from its sale.

What amount will be returned by him to the liquidator? (% 10,000 @ T& oFeR @& U S UMY 2, S9&T T1F I, ©
25,000 8 oifh SH 999 W F 12,000 UK & 2| T8 oMaR G99H &l fha+l IR amm| & ?)

a) Zero Er) b) Rs. 12,000 (¥ 12,000)
c) Rs. 5,000 (& 5,000) d) Rs. 2,000 (¥ 2,000)

In case of liquidation of company, any amount payable under employees provident fund will be ?
(@O & I B Rl § HHa & vifasve wue & oid < I 9HNG © fav aar 8RN ?)

a) Secured creditors (R oFER) b) unsecured creditors (R o RER)

C) preferential creditors (qaffieR oFeR) d) preference share holders (qaffreR aferem)
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Which of the following is not a preferential creditor ? (F=foRad # & &9 @GR oFeR & 8) ?

a) Dividend payable to preference share holders b) Amount payable under employees provident
(qatforepr sierenRar o1 < craren) fund
(el ® difdsve wvs & eaia <g )
c) Tax payable to government d) Amount of compensation payable to
(RHR BT 3T R ) employess

(e B 2 Rl 9 <)

On liguidation of a company, first payment in made under insolvency resolution process costs and liquidation costs in
respect of ;- (F & FHIUA R AT IS B T WO UgS T fHAT S 21)

a) liquidator's remuneration b) insolvency resolution process costs and
(Frars & aRsifae @) liquidation costs
(feare Haera Ufhar AT T AT o)

c) preferential creditors (qaffrer oFeRT @) d) liquidation expenses (FHTOR & =51 &)

According to whom, "Is the law on winding up of a company by which its life comes to and end its assets are used for

benefits of its creditors and members. (fFaa JITAR * TEH BT FT GAOA 98 O ¥ S §RT SHHT SieT G B § 3R
39D FHRTdl BT YINT 96 o[R! 0T Aawil & o & forg fbar Sirer 2 )

a) Lucas paciali (o uefraren) b) Balti Boi (a1t df)
C) Gower (30 TTeR) d) Adam Smith (¥sq R¥21)

Which word is used for both individual and local organisation:- (&% e &1 waNT @fdd d M, a1 W7ed M1 & forg
fowar Sirer 2-)

a) liquidator (FraR®) b) Accountant (eRETHR)

c) Insolvency  (f&arem) d) Creditor (cFER)

Insolvency is a situation and Bankruptey is . (Rarem v Refa sk fearforam= ST ... g)
a) efficiency (GEn)) b) opportunity  @EwR)

c) Authority (eTfrPR) d) Result  (aRorms)

Process ding for winding up can be initiated by the person of or oraganisation:- (F=faRaq =fdq a1 den gRT 999 =g
FrIqIRar wRT 6 ST Fadl 2 )

a) Regulatory bodies (Frmie o) b) Director of a company (&w=i & Hareid)
c) Shareholders of a company (@t @ 3ferm) d) All of these (5% w+)

Mode of liquidation of company are :- (&= & FwTer %1 fafeEr &)

a) 2 @) b) 4 (@R)

c) 5 (df=) d) 3 (cfr)

Circumstance of winding up by tribunal are :- (R ifiraRoT gRT FAUE & T2MQ 8T Fhell 8-)

a) Inability to pay debt b) Donate excessiely
(T & YT | STHET) (ereafdre < &)

c) rising inflation d) increasing the no. of creditors
(e qg) (@FeRl @ FEr 98

When was SAFAESI Act implemented :- (SARFAESI Act %9 o[ faar r=m o —)
a) 2000  (2000) b) 2001  (2001)

C) 2002 (2002 d) 2003  (2003)
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Distinguishing features of code are ;- (ffear @ g&=1 faivarg &)

a) Insolvency professionals b) Information utilities
(Fearer termaR) (RparT SabTSAN)

C) Insolvency professional agencies d) clarity in process
(fearetr URraR i) @frar # uReEian)

Which of the following are acts for recovery of loans due to bank and financial institution. (=faReq & & 9% vd foc
el & < FON @) agel s 3-)

a) 1992  (1992) b) 1993  (1993)

c) 1994  (1994) d) 1999  (1999)

Who can apply for corporate insolvency resolution process. (Frmira fearem deed ufhar & folg &I e < FehaT &)
a) share holder (afeTermd) b) debenture holder (For a=)

c) financial creditor (g a9 3R) d) liquidator (FraR®)

According to which section of insolvency and bankruptey court 2016 the liquidators has been told his right and duties.
(Insolvency and bankruptey 2016 & 59 gRT & TR RS & AHR 3R Hdad Id¢ 7Y 3 [)

a) 35 (35) b) 45 (45)
c) 25 (25) d) 55 (55)

Which of the following is including in liquidation estate assets as per section '36' (3) ? (©IR_T 36 (3) @ 1@ liquidation
estate assets /=1 # | @19 wfda 8-)

a) Tangible assets (e wwfera) b) Intangible assets (erqed wwfr)

c) personal assets  (froh i) d) A and B both (31 3iR 9 <M

When are uses of worker paid in process of liquidation :-  (F¥TU= 8= @1 Ufthar # siffl &1 9wt w9 am S &)
a) before 24 months (qd & 24 A8 #) b) under 6 months (6 @18 & ¥IR)

c) before 6 months (@ @& 6 w1 #) d) under 24 months (24 w18 & *fieR)

The first item in order of payment to be made by liquidator is :- (AT gRT U S arel qTaE &) og Tem 3 ugell 9%
€)

a) Secured creditor (JRf&@A oER) b) preferential creditors @A oFaR)
c) liquidation expenses (GR¥FHYA =11) d) preferential creditor (@I <FER)

Liquidators statement of receipts & payment is known as :- & miftq &iR A= & faaRer & w0 # S S )

a) cash flow statement b) cash book
R vare faaxon) CREEIL))

c) deficiency account d) liquidators final statement of A/c
(@ aran) (T T BT 3if faavo)

A contributory is :- (3fererlY 8-)

a) A creditor b) A shareholder
(TP @eR) (T sferem)

C) A debenture holder d) A convertible debenture holder
(TP fSdR aR®D) (s aRexi-g ol gR®)

Salaries due to clerk is preferential for a period not exceeding:- (@@ & da= 3fd® ¥ 31f® sm@fdy & foy st &)
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a) Two months (@1 #TE) b)
c) Four months (@R A1) d)
Maximum can be treated as preferential salary & wages.
AT ST ® 1)

a) 20,000 (20,000) b)
c) 30,000 (30,000) d)

Share allotment isa  @rRR amded &—)
a) Personal A/c (faTd waran) b)
c) Impersonal A/c  (srafaaera @) d)
Premium received on issue of share A/c is shown on:- ()

a) Asset side of B/S  (B/S & uR¥ufcr uer #) b)

C) Credit side of P/L A/c (Cr. side of P/L A/c) d)

Voluntary winding up :- (&f2e® 909 & SR 5—)

a) If period fixed for the company is expired b)
@ Frol & forg srafer e & TE )

c) Members voluntary winding up is applicab to d)
solvent company
(I Wfted FAUT HFIT BT 8 R B foTg a4 2)

Compulsory winding up :-  (@TfFer SAUH & HROT 8)

a) If a company unable to pay its debt b)
(@fs B HFA T IHH BT A T H et 7)

C) If a Co. does Commence its bass with in a year d)
@ Fo TH 9§ & WioR U T YH BT ©)

Liquidator is appointed by :- @R<wms gR1 fgad fsar s 2 )

a) In case of compulsory winding up b)
(rfvrard T\ & AT H)
c) In case of creditor voluntarily winding up d)

(FeR Wfss FHee)

Present members are included in list of contributories:-

a) Alist (T =) b)
c) Clist (¥ w=h) d)
Past member are included in _____list of contributories.

a) Alist (@ =) b)
c) Clist (& 5= d)

Three months (@ )

five months (df= =Te)

(@rfermaH ........ DI AT I IR AT & w9 H

25,000 (25,000)
40,000 (40,000)

Real A/c CIESIEEACIGH!
Nominal A/c GIGEIERCIGD)

Liabilities side of B/S (B/S & <ar uer #)

Debit side of P/L Alc (P&L A/c @ Dr. side)

If company passes a special resolution
(@R H¥) T IRy vt uTRd el ©)

All of these
(Suad @)

If the no. of member of Co. reduce below
statutory limit

@ HO & A @ e e T | B
21 S §)

All of these

(Suga i)

Member voluntarily winding up
(e wWfed |qATTE)

All of these
(Swfa w4)
Blist @ =)
Dlist (@ =)
Blist (& =)
Dlist (S =)

Creditors voluntary winding up applies to :- (R wWfte® @AUA e 2)

a) Insolvent company (fEarferar &wde) b)

c) public company (\rdsi=e &) d)

solvent company (faemasd @&wo)

private company (st &)
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At the time of liquidation the first payment done to :- ()

a) liquidation exp. (aRwHIH =53) b) Secured creditors (gRfe oFER)

c) Preferential creditor (eraT oFgR) d) unsecured creditors (R oFER)
Preference share are treated as :- (@rgaT afer &1 AT ST 8)

a) liquidation exp. (aRwATIT =) b) Secured creditors  (gRfara &)

C) Preference creditor (@9gdm oFgR) d) unsecured creditors ERRREA oFER)
A company being a creation of law cannot die a :- (®MT & 99 aTell FUN B A AT A& TR AHA )

a) heart attack (e @1 €R) b) artificial death (srarfas #ia)

c) accident (gge) d) Natural death (zarrfas i)

At the time of amalgamation preliminary expenses are transferred to : (T & W99 URMS &1 &I @RI fHar S
21)

a) Account of Transferee Company b) Realisation Account
(SR BT BT T CHEIREISD)
c) Shareholders's Account  ERRER® &I @) d) Debentureholder's Account (fes=RemR®! @1 @)

In case of amalgamation accumulated profits include: EwFEs @ wr7er § |fad o # wfiea 2)
a) Public Deposit (Ardsia ) b) Employee provident fund (sF=m wfasr ffd)
c) Provision for taxes (&= @ fere uraerm) d) None of these (7 & ®1E )

The formula to find out goodwill is : (Fgra=T F/a &% &1 93 2 3)

a) Value of Net-Assets- purchase price b) Purchase price-value of Net Assets
(I& HuRT &1 Jea—adie q) (@ie Jea—Trae JuRy &1 god)

c) Value of Assets-Purchase price d) Purchase Price-value of Liability
(HURT &1 [I—TNIT od) (@RE qeI—3TAT BT o)

When the expenses of liquidation are borne by the vendor company, the vendor company debits:
(S/a UREAYT &1 @9 fashdr Hu gRT g8+ fhar orar 2, a1 fasmar su S &l 2)

a) Realisation Account (a<fefl @) b) Bank Account (S waran)
c) Goodwill Account (Fgma=T @) d) All the above EwIa @)

When the expenses of liquidation are borne by the purchasing company, the purchasing company debits:
(ST9 UREHETTT BT W Y U1, DA BU §RT g8 fpar Srar 2)

a) Realisation Account (a<feft w@Tan) b) Bank Account (fasar &1 %o @ )
c) Bank Account  (d& ) d) Goodwill Account (Fgra=T @)

Value of net assets is subtracted from accepted purchase consideration. The balance amount will be:
(g FuRT @1 Joa Wad g Ufahe 9 TSR Sar ¥ 1 Ay ey 86 )

a) Purchase Surplus (@ig 1ferer) b) Value of Goodwill (Fgma=T &1 93)
c) Business Fund (st we) d) Capital Surplus (&0 arfere)

What will be recorded in the books of transferee company under purchase method ? (g ugfy & sfdva AR wu @1
qXIBI § FT Tl BAIY)

a) All assets and liabilities of transferor company b) All assets, liabilities and reserves of transferor
(EFIARTRAT BU @l T FURR iR SeaTRa) company
(@RI U B T HulRal, SRR iR HeR)
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C) Assets and liabilities acquired by transferee company d) Assets and liabilities acquired by transferee
IR P gRT AIfSia Hufar *fiR T=TRE) company and statutory reserves.
(CHY HU AR e HeR gRT IR dufy
3R IRIRA)

To which account the difference between the purchase price (consideration) and share capital of the transferor company
should be adjusted under the pooling of interests method: (s @ # wde e @fiwd) iR IR Gofl & 99 &7 AR
JfROTRAT BT BT fEAl B YT UGT B ded AHAST fBAT ST =0eY)

a) Goodwill or capital reserve b) General Reserve
SRR CIRCINE D)) @r= Rerd)

c) Amalgamation Adjustment Account d) Other liabilities
(e RIS @) CREESEIRY)

Under which head of balance sheet Amalgamation Adjustment Account is shown: @ e & f5d Y & T8d FAWe
SEIICEREININECIRIIIE )

a) On Assets side-Misc. Exp. b) On Assets side- current Assets
(@ufy ueT R — fafaw) (FUfRy 9&T R — IAE FHIRY)

C) On Liabilities side- Current Liabilities d) On Liabilities side- Reserves and Surplus
(STAT U TR — A TIATY) (@uar vt W — Rod iR a1fde)

Purchased assets Rs. 15,00,000. Purchased liabilities Rs. 1,00,000. Purchase Consideration Rs. 15,50,000. Goodwill/
Capital reserve will be: (@& 71 Hufi & 15,00,000 | WAL TS IFGIRAT F 1,00,000 | WS fFIR % 15,50,000, FLTAAT / YOI
RfErA 8 2)

a) Rs. 14,00,000 Goodwill b) Rs. 50,000 Capital Reserve
(¥ 14,00,000 HETG) (% 50,000 YGIT 3TRfaTd)

c) Rs. 1,50,000 Goodwill d) Rs. 50, 000 Goodwill
(% 1,50,000 HgTa) (% 50,000 FgT)

Given: Goodwill Rs. 37,000, Fixed Assets Rs. 45,000; Current Assets Rs. 35,000, Statement of profit and Loss Rs.
30,000; Creditors Rs. 40,000; share capital of the Company Rs. 10,000, Rs. 10 per share, value of share Rs. 7 per share.

What will be Purchase Consideration ?  (feam a7 SgTa+T % 37,000, 3M9el HURT % 45,000, 9o HURT & 35,000, A9 &7 faaxor
3R B % 30,000, TFIR T 40,000, HUAT HT TR Yo © 10,000, T 10 YT IR, oI IR & 7 URT R | @ =R a1 80mm ?)

a) Rs. 1,10,000 (& 1,10,000) b) Rs. 70, 000 (¥ 70,000)
c) Rs. 40,000 (% 40,000) d) Rs. 1,27,000 (& 1,27,000)

The meaning of absorption is :  (sraeiwor &7 3ref &)

a) To absorb another company by existing company b) After liquidation to two companies making
(@INIET S ERT Bl 379 HUl BT SE=fd &3 & forg) new company
(7S B 99 ATl T Hufal & IRTHOE & 919)
C) To improve economic situation by existing company d) To purchase an other company by a company
(FIS[ET BU gRT oY Rerfy # GuR & & forg) @@ HUN ERT AN HUAT BT WEIEA & forg)

When one company goes in liquidation and a new company is formed to takeover the business of the company which
goes in liquidation, this is called : (59 t& @t gRFAGS H S 2, IR T 5 HU BT TS BT 8 Sl FGART BT MR
PR B BUT O IREATTH F W 2, S BT O 7)

a) Amalgamation () b) Absorption  (3raiTyo)
c) External Reconstruction  (ar&s gfmio) d) Internal Reconstruction (sriaRe gafmiom)
In internal reconstruction: (@raRe gAf™T 7 2

a) No company goes into liquidation b) Only one company goes into liquidation
(@S B gRTHIT F & STl ?) (@dd TP BUHI IRTHATT F STl 2)

c) Two or more companies are liquidated d) One or more companies go into liquidation



265.

266.

267.

268.

269.

270.

271.

272.

273.

274.

@1 a1 31 ¥ Afde Hufrl & aReAIH fear S §)

Reconstruction of a company means : (W& ®u= & GAMHIT BT 342 )

a) Internal change of the company b)
(@TN BT STdRE uRac)

c) None of the above d)
SR H B T8

(Ud a1 e wufrar gReAT # Sl ®)

External change of the company
(@U@ 91E) gRac)

Both A and B
(@1 3R 7 <)

Capital reduction requires the permission of : (ol KN @1 IrFART & TaTIHAT &)
a) Company Law Board (&ut &f @1) b) Government (FR&R)
C) Court (@13) d) All of the above (SwRIa a+)
The balance of capital reduction is transferred to : (st # & @1 Hge Yer=iaRa f&ar S 2)

a) General Reserve (S¥Rer Rord) b) Reserve Fund (Red ws)
c) Capital Reserve (@fdca Rard) d) Profit and Loss A/c (e &R =1y w@ran)
The characteristic of internal reconstruction is : @raR® gafHT @7 W )

a) Liquidation of companies b)
(®ufral &1 gReHI)

Liquidation of one company
(U BUN BT YRAATI)

c) Change in capital structure d) Absorption
(Gl wvar # aRad) (erarereoT)
In case of internal reconstruction the existing company will be ................. (eriaRe gAfHfoT & Aer # HiSET HU
B
a) Liquidated (aRHTY) b) Amalgamated  (FFHfe)
C) Absorbed (eraenfya) d) Retained (&Y <)
When there is no liquidation and one formation, it is known as .......... (S19 BIS gRFATYT 3R UH 69 T8 BT B, A5 3 ...
& L H ST ST R )
a) Amalgamation () b) absorption (arareiyon)
c) External Reconstruction  (ar&s gAfio) d) Internal Reconstruction  (srfaRe gaf+fon)

If total value of net assets acquired by the company is less than the purchase consideration, the difference is:
@fe Fo gRT AT gg FulT &1 §a o7 @IS Uihd | &9 2, 95 3R 7)

a) Secret Reserve (<1 Rerd) b) Goodwill (TgTa)

c) Capital Reserve (dfdea Rsrd) d) General Reserve (@mm=g Rerd)
Resolution to change share capital must be passed in: (@ERR I &1 HoHed Yol & wRT fFar ST =1y )

a) General Meeting (3 d5®) b) Extraordinary Meeting (IR Soa@)

c) Special Meeting (faRy do@) d) Emergency Meeting (@mUTAHETAT 5@)

Right to buy Right share isto : T3¢ IR @WEH T AMGR &)

a) Preference Shareholder's b) Equity Share holders
CHRRINEECIRED) (3Tt TrRYR®)

c) Both A and B d) Not to both
(@1 a1 @R 9) @Ml & forg =g

It is necessary to give notice to convert shares into stock within :  (@=RI @1 e § 98 I &)



a) 15 days (15 f&9) b) One month (T& A=)
c) Two months (@ |fg=) d) 45 days (45 fa=7)

275. A new account is opened on application of Capital Reduction Scheme, that account is :  (dsft IS @ 3Mde R T 741
GTaT @l S 8, 98 Wl &)

a) P & L Adjustment A/c b) Capital Reduction A/c
(@ g Tel IS @) (gST HEKRT @)

c) Capital Surplus Alc d) Capital Realisation A/c
(gt arfermy graT) (gsh it @)

276. Arrear of dividend on Cumulative Preference Shares is : (-l a=iar 2RI WR AT 6T 9677 7)
a) Current Liability (ac#m <o) b) Contingent Liability (@mHReE I
c) Provision (o) d) Reserve and Surplus (RoTd 3R arferegy)

277.  Anitem to be credited in capital reduction Account is: (IS FHEKRN W # ST B S dTell Ud A3 o)

a) Goodwill b) Preliminary Expenses
(agra) (EINEECR)

c) Reduction in Value of Assets d) Increment in Value of Assets
(FufRT &1 @ H§ F) (Fufr &1 7o # gfg)

278.  The part of share capital, which can be called only at liquidation of company, is called : @R 4ot @ a8 9T, R dad
BUH B YRFATTT W & BT Sl hdTl 8, HEA 2,0

a) Authorised Capital (@rferga goh) b) Issued capital (ST gt
C) Reserve capital ~ (R<rd @fded) d) Capital Reserve (@fica Rad)
279. In case of liquidation of company first payment is made in respect of :  (@u= & URIHTA & AFC H Ugal Y= fHds
ey # fear orar 2)
a) Legal Expense (@il =) b) Preferential Creditor (AR TFER)
c) Liquidators remunerations (aR¥Tae AR sifien) d) Liquidation expenses (aR&To= &)

280. The liquidator of a company is entitled to a remuneration of 2% on assets realised and 3% on the amount distributed to
unsecured creditors. The assets realised Rs. 1,00,000 including cash balance of Rs. 3,000. Amount available for
distribution to unsecured creditors before paying liquidator's remuneration was Rs. 46,350. The liquidator's will be :
(TP U B URIAYS P UG FRT W 2 TR 3R T W 3 IR & RS T §PaR 2 IgRIed oeRi ®f aRkd o T8
IR | HURT BT agell & 1,00,000 S Fha Y AT | 3,000 | TRIAIS BT A B A U8l IR R BT fAad=or & forg
Suere IR TRAAS ® 46,350 o7 | UREHTUS BT

a) Rs. 3,100 (% 3,100) b) Rs. 3,330.5 (¥ 3,3305)
c) Rs. 3,140 (& 3,140) d) Rs. 3,290 (¥ 3,290)
281. If dividend on preference shares has been declared but is not paid. On liquidation dividend is paid as ............

(@ e TR R Anier Sifva AT T € | Iae el e T € | uREEE R Arier & I {6 S ® S )

a) Debt (W) b) Arrears of Dividends (STieT & 1)
c) Preferential Creditors (ARSI <HER)) d) Profit  (am)
282.  When winding up of a company is made by the court, it is called ............. (S9 B SN BT URFHAIT <RI §RT

forar Trar 8, @S9 .. PET ST ' 1)

a) Creditors voluntary winding up b) Liquidation under supervision of the court
(GFeR wWie® FHUA) (FITITed @) dENE H uReHTe)

c) Voluntary liquidations d) Compulsory liquidation



283.

284,

285.

286.

287.

288.

289.

290.

291.

(@fos aReETE) (@rfrard aReTes)

A creditor for Rs. 10,000 holding a charge on the stock of the value Rs. 12,000 (market value Rs. 9,000) is :
(% 10,000 & U & oFER & dog & 12,000 (@OIR &I & 9,000) & Wb W AGT IET & )

a) Partly secured creditor b) Fully secured creditor
(@rifren w7 ¥ GRETT FER) (@ avE 3 GRiEd oFerR)

c) Preferential creditor d) Unsecured creditor
GSIEIEEEN) (3rgfRT o e)

When a company is wound up, out of the unsecured creditors some have to be paid, under the law, before others. Such
creditors are Known as ................ (ST Bz PN 45 & ST &, O SRR Rl H I O P BT $ T80 I BRAT
UL B, TARI B G | T OFERE B ... B ®T H ST ST 7 )

a) Partly secured creditors b) Unsecured creditors
(RIS w7 & R TaR) (ST @ TaTR)

c) Preferential creditor d) Secured Creditors
(RSN oerR) (GHERECEE)

Winding up of the company is : (@TN BT FAO )

a) By closure of business b) By sale of asset
(@MR 43 PXP) (ufy @ e )

C) By end of legal existence d) By Articles
(@ SR & 3id ) (erEt gw)

Under which section of the companies Act winding up is possible. @ e @1 e aRT & T8 FHIUE 99T )

a) Sec. 425 (1. 425) b) Sec. 424 (TP, 424)

c) Sec. 423 (1. 423) d) Sec. 426 (Ab. 426)

Winding up by court is possible under section : (TTeE gRT UREATIS 9RT & d8d §9d &)

a) Sec. 484 (1. 484) b) Sec. 433 (. 433)

c) Sec. 425 (1. 425) d) Sec. 424 (TP. 424)

For winding up by court it is essential to have : (RTaTerd gIRT WA & forg smawasd § )

a) A general resolution (v& | Haed) b) Non-general resolution (FR—\m™T Haed)
c) Resolution by general meeting (3m 8@ gRT d&ed)  d) Special resolution  (faRry Haed)

Among the following conditions in which condition is winding up possible ? (Fr=ifoRRaa # &1 frw Refay # uRems wwa
g7

a) If the company has not called up statutory meeting  (@FR &l 7 Fe1fe S8 &1 golls ©)

b) The life of the company has expired (BT BT Siad |qAT BT T 7)

C) Members have passed a resolution for voluntary winding up ~ (Fei =7 wiftes waI+ & forg va oama wikd
iiRa fomam 2 )

d) None of these (79 & &I =2)

On receiving of winding up orders from the court it is necessary to provide information to : (=maTera & FHUT Qe e
B W HEIRET @1 al Y&T BT ATaRhD &)

a) to registrar RRRER 1) b) to Directors (el 31
C) to Promoters (¥Text ) d) to Shareholders  (I=RuR®T B1)
On declaration up the member's declaration given by the director is : (Fewat @ gvon R fgerd gRT €1 718 9@Won )

a) Business Progress Declaration b) Declaration of slovency



(craamy yfer Erom) (2er erwreT a1 o)

c) Declaration of winding up d) Declaration of appointment of liquidator

(FATIE @Y =Ty @ReATs & e @ =@mom)
292. In case winding up by the court the meeting of the creditors is called up : (=mTe™ gRT FAME o Rafy # ¥Rl @ 9%

ESIEASININD)

a) within two months from the date of winding up b) within two months from the order of court
(FHT9E B AR | & HEH B i) (QreTad & QW W T AEH & HWiTR)

c) within one month from the appointment of liquidator d) Not essential to call meeting
@ReTas @ Y |t 7E8m @ W) 5P g @ forg ) 12)

293.  Calls in arrears case of winding up is shown in: @ERET o & w7l 7 TR ¥ ofa &1 R@mn 1@ )

a) ListE (g §) b) List C (g )
c) ListA @& v d) ListF (g tw)
294, In case of winding up the assets specifically pledged are shown in : (¥ w9 & iR vt 7€ Hufrdl @ 98 3= & AW
H famar T 8)
a) ListA @ v b) ListB (g &)
C) ListD (= ¥ d) ListG (= &)

295. List related to creditor secured by floating charge : (@@ifeT =t gRT RfAM oFeR & AefRd =)

a) ListD (g ) b) List C (g )
C) ListH (= wa) d) ListE (g 39)

296. In case of winding up of the company the contingent liabilities are : (FU= & FHTT & AT # MHRAG AR 77)

a) Preference creditors (R @9eR) b) Secured creditors (GRfa oFER)
c) Unsecured creditors (GRRfT oMaR) d) Partial secured creditors (=i gRfea oFeR)

297. Secured creditors are Rs. 15,000, the realisable value of the assets kept as security is Rs. 20,000, the excess will be
shown in : (R &R % 15,000 &, GReT & ®U A @0 T$ FURT BT aGell A7 Jod 6 20,000 &, JfIRed 3 fe@mn smem:)

a) It will be added to the reasonable value of asset b) It will be added to unsecured creditors
(59 Fuft & Sfrd gea § Sirer o) (5% SRR SFERT # ireT W)

C) Added in Deficiency d) Decreased from liability
(@ H ST S (@il & &)

298. Creditors are Rs. 8,000, value of asset kept as security is Rs. 6,000, the difference will be : (FTR % 8,000 3, TR & w9
# & ¥ Hufy BT Jod % 6,000 § , 3R B

a) Preference creditors b) Unsecured creditors
(T BTER) (srgefard oaT)
c) Deficiency d) Creditors having floating right
(@) (AT ARFHR arer o eR)
299. If the winding up of the company is on the order of court then the liquidator will present his statement for a specific

period to : (A U BT IRTATIT IRTAT S MY W & A1 GRAAGS 01 fIaver wgd HmT, o fafne o@fd & o)

a) Company (@) b) Court (@1d)
c) Company Law Board (@ &t 918) d) Registrar (RRgR)

300.  Among the following the payment will be made firstto : (F=foRaa § | Fe9 ygel oA fowan STom)

a) Remuneration to the valuer b) Remuneration to liquidator
(eai®ma BT TIRfH®) (@RS B aRefH®)
c) Preferential creditors d) Statutory/legal expenses

(@ T ER) (@ / B @)



